
D O W N F O R C E  N A K E D  F R O N T A L  S P O I L E R
R E F . 2 1 1 3 3

C F D  F L O W  S I M U L A T I O N

Y A M A H A  M T - 0 9
2 0 2 1 -

A E R O D Y N A M I C  T E S T



C F D  F L O W  S I M U L A T I O N R E F . 2 1 1 3 3

Downforce-Speed Chart:

On this chart we can see the downforce that the spoilers generate.

S P O I L E R ’ S  D O W N F O R C E

DO
W

NF
OR

CE
 [K

g]

SPEED [Km/h]

DOWNFORCE

0

0,5

1

1,5

2

2,5

100 150 200 250 300

2 Kg 
DOWNFORCE

(Top Speed)



R E F . 2 1 1 3 3C F D  F L O W  S I M U L A T I O N

W I T H O U T
S P O I L E R S

P U I G
S P O I L E R S

-1400

-1200

-1000

-800

-600

-400

-200

0
0 100 200 300

DR
AG

 F
O

RC
E 

[N
]

SPEED [Km/h]

PUIG SPOILERS

NO SPOILERS

Drag force - Speed Chart:

On this chart we can see the force that 
our bike has to overcome to advance 
depending on the speed we are travelling at.
As we can observe this force is practically
the same with the Puig Downforce Race Spoilers.
So we will gain downforce without affecting
bike speed.

D R A G  F O R C E  

OVERPREASSUREDEPREASSURE

Due to its angles and frontal surface, it
creates an overpressure on the top of the spoiler.
The turbulance create below,   generates a difference 
of pressure between the upper and lower part of the    
spoiler. Which ultimately generates the aerodynamic 
downforce.



ID QTY REFPIEZA/PART DESCRIPCIÓN DESCRIPTION

www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

Pg. 1/2

15 min

ALLEN

Nº23
Nº  4

YAMAHA MT09  /  SP ‘21-

1 Person

3

4

5

6

7

8

1

2

3

2

2

2

2

2

1

1

TORNI-I7380-493

ARNV00000000245

TORNI-AI----520

TAPON--------85

21133J/CM3

SOP1P5----21133

Tope de goma Ø3,7-3,8 x 3,2mm

Tornillo Allen M5x16 Ø11 ISO 7380

Arandela de goma Ø4,5 x Ø11 x 2mm

Arandela de nylon M5x1

Tornillo Allen M5x12 Ø11 ISO 7380

Tapón tornillo M5 ISO 7380

Alerón frontal naked

Soporte Aluminio ( Negro)

Ø3,7-3,8 x 3,2mm Bumper foot

M5x16 Ø11 ISO 7380 Allen screw

Ø4,5 x Ø11 x 2mm rubber washer

M5x1 Nylon washer

M5x12 Ø11 ISO 7380 Allen screw

M5 ISO 7380 screw cap

Naked frontal spoiler

Aluminum support ( Black)

EASY

M O U N T I N G  I N S T R U C T I O N S

DOWN FORC E  NA KE D FRON TA L SPOIL E RREF 21133

Illustrations and layout by: www.ciandisseny.com

* Algunos componentes se suministran montados.
    Some components are supplied assembled.

V0.09/22



www.puig.tv
www.puigusa.com

info@puig.tv
info@puigusa.com

I N S T R U CC I O N E S  D E  M O N TA J E  -  M O U N T I N G  I N S T R U C T I O N S  -  M O N TAG E A N L E I T U N G

Pg. 2/2

YAMAHA MT09  /  SP ‘21-

2

43

1
ASSEMBLY
MONTAJE

ASSEMBLY
MONTAJE

ASSEMBLY
MONTAJE

DISASSEMBLY
DESMONTAJE

Illustrations and layout by: www.ciandisseny.comV0.09/22

3 3

2

44

3

7 6

5

1

1

7 7

8 8

Par de apriete - 3 Nm
Tightening torque - 3 Nm

Par de apriete - 2 Nm
Tightening torque - 2 Nm

4

7


	21133 (2)
	21133 (1)

